=4 Replaces Toro Groundsmaster 5900-D

ﬂﬁn Parts
Rotary Mower - Model 31698
~ Seat

’Q-

Y

ll’l_"‘_:

e

oy
—

——

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Groundsmaster 5900-D

Hﬁn Parts
Rotary Mower - Model 31698
~ Seat

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

Guages and Controls

60 R93-9999 93-9999 Switch - Pto 1
100-1535, ,

61 R100-1535 100-8492 Switch 5

62 R95-8999 95-8999 Switch - Headlight 1

63 RTCA18463  108-8024 Seat Switch 1

Other Parts Available

70 R117-5676 117-5676 Seat - Premium 1
100-4928,
110-0413,

71 R150848 110-9720. Belt-Seat 1
95-8910

72 R108-7602 108-7602 Arm Rest 1

73 R130-2702 130-2702 Air Ride Suspension - Seat 1
3212-3,

74 R3212-4 3212.4 Bolt - Hex HD 7/16-20 x 1 GR5 2
01-166-0710,
23-12-GD, .

75 R3253-6 3253.6, Washer - Lock 7/16 Zinc 2
59-7590
93-5212,

76 R98-1471 94-3500, Steering Wheel Assy - 14 in Incl Cap 1
98-1471

77 R98-1468 98-1468 Cap - 14" Steering Wheel 1
24-15-BD,
32-7820,

78 R3256-27 3256-27, Washer - Flat 5/8 SAE 1
7-0131,
Jul-78

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Groundsmaster 5900-D

ﬁn Parts
Rotary Mower - Model 31698

" Seat

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
79 R99-7420 ;807242183 Plug-Hole 1
80 R132-6256 132-6256 Steering Valve 1
81 R136-4368-01 136-4368-01 Pedal-Traction 1
82 R93-5368 93-5368 Abrasive - Pedal 1
83 R93-5347 93-5347 Abrasive - Pedal 1
84 R256-236 (ZJSC?A%O% Bearing - 5/8 Flanged 2 Bolt 1
85 R117-5454 117-5454 Plate - Butterfly 1
86 R93-7960 93-7960 Spacer 1
87 R131-2252-01 131-2252-01 Spring Bracket 1
88 R84-9100 84-9100 Spring 1
89 R2411-36 ?élfl 1336 Rod End 1
90 R92-7610 92-7610 Retainer-Spring 1

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Groundsmaster 5900-D

ﬂﬁn Parts
Rotary Mower - Model 31698
~ Seat

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

01-166-0100,
01-166-0120,
01-166-0270,
01-166-0500,
01-166-0600,
01-166-0620,
132-4593,
2356-3,
237-12,
24-10-AD,
24-11-AD,
24-11-BD,

91 R453011 24-12-AD, Washer - Flat 3/8 SAE Y/Zinc 1
24-12-BD,
30-9310,
32-8190,
3256-24,
3256-3,
3256-36,
3256-4,
453011,
47-9950,
48-9220,
513458,
7-0052

01-166-0140,
01-166-0700,
3256-5,
80-4850

92 R453013 Washer - Flat 7/16 1

01-188-0624,
215-50,
93 R3219-3 22-13-BJD, Nut - 3/8-24 1
22-13-BJKD,
3219-3

94 R136-4384-01 136-4384-01 Bracket - Sender 1

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




